








JOIN BATCH NOW





Q.1 –  Which of the following statements on Jyotirao Phule are correct? 

(A) Phule studied in Christian missionary schools.

(B) He countered Brahman's claims of superiority.

(C) He said that Aryans were foreigners.

(D) He was critical of anti-colonial nationalism of his times.

(E) He dedicated his book Gulamgiri to anti-apartheid struggle of South Africa.

Choose the correct option.

1. (A), (B), (C) and (D) 2. (B), (C), (D) and (E)

3. (A) (C) (D) and (E) 4. (A), (B), (C) and (E)



Q.1 –  निम्िनिनित में से ज्योनतराव फुिे पर कौि से कथि सही हैं ?

(A) फूिे िे ईसाई नमशिरी स्कूिों में पढाई की थी। 

(B) उन्होंिे ब्राह्मणों के शे्रष्ठ होिे के दावों पर िुिकर हमिा नकया था।

(C) उन्होंिे कहा नक आयय नवदेशी थे।

(D) वह अपिे समय के उपनिवेशवाद-नवरोधी राष्ट्रवाद के आिोचक थे।

(E) उन्होंिे अपिी नकताब 'गुिामगीरी' दनिण अफ्रीका के रंगभेद नवरोधी संर य् को समनपयत नकया।

सही नवकल्प का चयि कीनिए:

  1. (A), (B), (C) और (D) 2. (B), (C), (D) और (E)

3. (A), (C), (D) और (E) 4. (A), (B), (C) और (E)
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Q.2 –

I. A new form of Buddhism developed 

during the rule of King Kanishka.

II. Mahayana Buddhism had two 

distinct features; Buddha's presence 

was depicted through signs and the 

belief in Bodhisattvas.

1. Both (I) and (II) are true and (II) is 

linked to (I).

2. (I) is false but (II) is true.

3. Both (I) and (II) are true but (II) is 

not linked to (I).

4. (I) is true but (II) is false.

Q.2 – निम्िनिनित कथिों पर नवचार करें:

I. बौद्ध धमय की एक िई धारा का नवकास रािा 

कनिष्ट्क के (शासि) के समय में हुआ।

II. बौद्ध धमय की िई धारा महायाि की दो मुख्य 

नवशे्ताए ँथीं; बुद्ध की उपनस्थनत नसफय  कुछ 

संकेतों एवं बोनधसत्व में आस्था के माध्यम 

से दशायई िाती थी।

1. कथि (I) और (II) दोिों सही हैं एवं कथि 

(11), कथि (I) से संबंनधत है।

2. कथि (1) गित परन्तु कथि (II) सही है।

3. कथि (I) और (11) दोिों सही हैं परन्तु कथि 

(11), कथि (1) से संबंनधत िहीं है।

4. कथि (1) सही है परन्तु कथि (II) गित है।1





Q.3 – Consider the statements:

I. The best known of the rulers who controlled the silk route were the 

Kushanas.

II. Kushanas ruled over Central Asia and North West India and were earliest 

rulers to issue gold coins which were used by traders.

1. Both (I) and (II) are true but (II) is not correct explanation of (I).

2. (I) is true but (II) is false.

3. Both (I) and (II) are true and (II) is correct explanation of (I).

4. (I) is false but (II) is true.



Q.3 – निम्िनिनित कथिों पर नवचार करें:

I. नसल्क रूट पर नियंत्रण रििे वािे शासकों में सबसे प्रनसद्ध कु्ाण थे।

II. कु्ाणों िे मध्य एनशया तथा पनिमोत्तर भारत पर शासि नकया एवं वे सबसे पहिे सोिे के 

नसक्के िारी करिे वािे शासक थे नििका उपयोग व्यापाररयों िे नकया।

1. कथि (I) और (II) दोिों सही हैं परन्तु कथि (11), कथि (I) की सही व्याख्या िहीं है।

2. कथि (1) सही है परन्तु कथि (II) गित है।

3. कथि (I) और (11) दोिों सही हैं तथा कथि (11), कथि (1) की सही व्याख्या है।

4. कथि (1) गित है परन्तु कथि (II) सही है।
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Q.4 – Consider the following statements on kings.

I. Kings in every dynasty wanted to emphasise it their moral right to be rulers. 

II. Kings constructed places of worship to proclaim their close relationship to 

God.

1. Staterhent (I) is true but (II) is false.

2. Both statements (I) and (II) are true and (I) is an explanation for (II).

3. Statement (I) is false but (II) is true. 

4. Both statements (I) and (II) are true but (I) is not an explanation for (II).



Q.4 – निम्िनिनित कथिों को रािाओ ंके आधार पर नवचार करें:

I. प्रत्येक रािवंश के रािा शासक होिे के अपिे िैनतक अनधकार पर बि देिा चाहते थे।

II. ईश्वर के साथ अपिे रनिष्ठ संबंध की उद्घो्णा करिे के निए रािाओ ंिे उपासिा के स्थािों का

निमायण नकया।

1. कथि (1) सही है परन्तु (II) गित है।

2. कथि (I) और (II) दोिों सही हैं, तथा (1), (II) की व्याख्या है।

3. कथि (1) गित है परन्तु (11) सही है।

4. कथि (I) और (11) दोिों सही हैं, परन्तु (1), (11) की व्याख्या िहीं है।
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Q.5 – Consider the statements:

I. In his inscriptions Ashoka suggested 

that rituals are not useful.

II. People in Mauryan empire followed 

different religions and this 

sometimes led to conflict and animal 

sacrifice.

1. I is false and II is true.

2. II is false and I is true.

3. Both I and II are true but II is not a 

cause for

4. Both I and II are true and II is a 

cause of I.

Q.5 – निम्िनिनित कथिों पर नवचार करें :

I. अशोक िे अपिे अनभिेिों में यह सुझाव 

नदया नक कमयकांड नकसी काम के िहीं हैं।

II. मौयय वंश के साम्राज्य में िोग नवनभन्ि धमों

का अिुसरण करते थे तथा यह कभी-कभी 

नववाद एवं पशु बनि तक पहुचँ िाता था।

1. (I) गित है एवं (II) सही हैं।

2. (II) गित है एवं (I) सही है।

3. (I) और (11) दोिों सही हैं परन्तु (II) (I) के 

निए कारण िहीं है।

4. (I) और (II) दोिों सही हैं तथा (II), (I) का 

कारण है। 4





Q.6 –Consider the statements A and B:

A. The Ryotwari system of revenues 

built a direct relationship with the 

cultivators and tillers.

B. The Ryotwari system emphasised

the extraction of revenue through 

the village headman.

1. (A) is true, (B) is false.

2. (A) is false, (B) is true.

3. Both (A) and (B) are true.

4. Both (A) and (B) are false.

Q.6 – निम्िनिनित कथि (A) और (B) पर 

नवचार कीनिए:

A. रािस्व की रैयतवारी व्यवस्था िे नकसािों 

(रैयतों) और िेनतहर कृ्कों के बीच सीधा 

संबंध स्थानपत नकया।

B. रैयतवारी व्यवस्था िे ग्राम प्रमुि के माध्यम 

से रािस्व की उगाही पर बि नदया।

1. (A) सही है, (B) गित है।

2. (A) गित है, (B) सही है।

3. (A) और (B) दोिों सही हैं।

4. (A) और (B) दोिों गित हैं 4





Q.7 – Which of the following statements is true in case of social reform and 

caste abolition?

(A) Rammohun Roy wrote pamphlets written as a dialogue to spread his ideas. 

(B) Singh Sabha leaders promoted modern education and Sikh teachings.

(C) Periyar's teachings promoted the idea of equality through religion.

1. Only (A) and (B) 2.Only (B) and (C)

3. Only (A) and (C) 4. (A), (B) and (C)



Q.7 – निम्िनिनित में से कौि से कथि सामानिक सुधार और िातीय उन्मूिि के संदभय में सही 

हैं?

(A) राममोहि राय िे अपिे नवचारों के प्रसार के निए पचे नििे िो संवाद के रूप में थे। 

(B) नसंह सभा के िेताओ ंिे आधुनिक नशिा और नसि नसद्धातों का प्रोत्साहि नकया। 

(C) पेररयार के नशिण में समािता का नवचार धमय के माध्यम से प्रोत्सानहत नकया गया।

1. केवि (A) और (B) 2. केवि (B) और (C)

3. केवि (A) और (C) 4. (A), (B) और (C)
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Q.8 – Consider the following statements:

I. Tawarikh was written by learned 

men in Urdu

II. The writer of Tawarikh used to live 

in urban areas

III. They often wrote their histories for 

Sultans in the hope of rich rewards

Which of the statement(s) is/are correct?

1. Both (1) and (II)

2. Both (II) and (III)

3. Both (1) and (III)

4. Only (1)

Q.8 – निम्िनिनित कथिों पर नवचार कीनिए

I. तवारीि को सुनशनित व्यनियों द्वारा उदूय में 

नििा गया था।

II. तवारीि के िेिक िगरों में रहते थे।

III. वे प्रायः अपिे इनतहास सुल्तािों के निए, 

उिसे ढेर सारे पुरस्कार पािे की आशा में 

नििा करते थे। 

कौि सा कथि सही है/हैं ?

1. (I) और (II) दोिों

2. (II) और (III) दोिों

3. (I) और (III) दोिों

4. केवि (1) 2





Q.16 – Arrange from earliest to recent, 

to reflect the emerg Nationalism :

(A) Rise of consciousness that Indian 

people should be sovereign.

(B) Withdrawal of llbert Bill.

(C) Formation of Indian National 

Congress. 

(D) Enactment of Vernacular Press Act.

1. (C), (B), (A) and (D)

2. (B), (A), (D) and (C)

3. (A), (D), (B) and (C)

4. (D), (C) (A) and (B)

Q.16 – राष्ट्रवाद के उदय को प्रनतनबंनबत करिे 

के निए निम्िनिनित को प्रारंनभक से िूति क्रम 

में िगाए ँ:

(A) भारतीय िोगों को संम्प्रभु होिा चानहए, यह 

चेतिा िागृत हुई।

(B) इल्बटय नबि को वापस िेिा।

(C) भारतीय राष्ट्रीय काँगे्रस की स्थापिा।

(D) वाक्यूिर पे्रस एक्ट का पाररत होिा।

1. (C), (B), (A) और (D)

2. (B), (A), (D) और (C)

3. (A), (D), (B) और (C) 

4. (D), (C), (A) और (B) 3





Q.17 – Consider the following 

statements:

I. Second five year plan was 

formulated in 1954.

II. Second five year plan focused on 

development of heavy industries 

under the control of private players.

1. Both (I) and (II) are true.

2. Both (I) and (II) are false.

3. (I) is true but (II) is false.

4. (I) is false but (II) is true.

Q.17 – निम्िनिनित कथिों पर नवचार करें:

I. 1954 में दूसरी पंचव्ीय योििा तैयार की 

गई।

II. दूसरी पंचव्ीय योििा में नििी संस्थािों के 

नियंत्रण में भारी उद्योगों के नवकास पर बि 

नदया गया।

1. (I) और (II) दोिों सही हैं।

2. (I) और (II) दोिों गित हैं।

3. (1) सही है परन्तु (II) गित है

4. (I) गित है परन्तु (II) सही

?
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